RBRFYUEEH S IISHRAOEH

PREFE S = 121.74m Hhigi IV
BEL | ARy Tk mi#E | BERE | UxXAXH B &t n XA 1=0.034U
&% | IRFRH o Alm) [UW/mK)| W/K) | BAZEn (r) ELs)

it v=024 |&BF 412 0.491 2.022 0.017 0.069
& B 2.21 0.491 1.084 0.017 0.037
R4 2.21 0.491 1.084 0.017 0.037
REE 357 0.491 1.752 0.017 0.060
BE 357 0.491 1.752 0.017 0.060
S| 2.02 0.491 0.991 0.017 0.034
e 468 0.491 2.297 0.017 0.078
sa0—Evk 448 0.491 2.198 0.017 0.075
5 3.02 0.491 1.482 0.017 0.050
P& EX 357 0.491 1.752 0.017 0.060
{EFr 357 0.491 1.752 0.017 0.060
iRz 4.30 0.667 2.870 0.023 0.098
FEEEE 0.84 4,650 3.906 0.539 0.452
BEE 0.84 4650 3.906 0.790 0.664
MR E 0.84 4,650 3.906 0.790 0.664
sa—EyNR 0.48 4,650 2.232 0.790 0.379
EFE) 0.84 4,650 3.906 0.539 0.452
MEEX (R 0.84 4,650 3.906 0.539 0.452
EE 0.48 4,650 2.232 0.539 0.259
BERRT) 0.84 4.650 3.906 0.158 0.133
ZEFT) 276 4650 12.834 0.158 0.436

H=1.0 (1) % UAH= 61770 X nA= 4607 (A)v X nA=1.106
® V=045 |FNE6HL 470 0.717 3.371 0.024 0.115
A - KA 2.21 0.717 1.585 0.024 0.054
BE 441 0.491 2.164 0.017 0.074
{EFr 1.37 0.491 0.672 0.017 0.023
FE=E 9.11 0.491 4470 0.017 0.152
sa—€vk 4.41 0.491 2.164 0.017 0.074
iRz 2.87 0.667 1.915 0.023 0.065
M=Eea(E 1.92 4,650 8.928 0.790 1517
Em(E 0.84 4,650 3.906 0.790 0.664
FEEE) 1.92 4,650 8.928 0.502 0.964

H=1.0 (2) I UAH= 38104 = nA= 3.700| (B)v % nA=1.665
2] v=039 |EM-BE 8.90 0.491 4367 0.017 0.148
FI=o6hh 5.95 0.717 4268 0.024 0.145
=1 4.70 0.491 2.306 0.017 0.078
HE2 5.80 0.491 2.846 0.017 0.097
FE=E 5.63 0.491 2763 0.017 0.094
iRz 4.30 0.667 2.870 0.023 0.098
EE-&mE 3.20 4650 14.880 0.520 1.664
- &mE 2.24 4,650 10.416 0.520 1.165
FE6h(E 2388 4650 13.392 0.520 1.498
HFENE 1.92 4,650 8.928 0.215 0.414
EE2AR 1.92 4,650 8.928 0.215 0414
FTEEE 3.84 4,650 17.856 0.215 0.827

H=1.0 (3) I UAH= 93820 X nA= 6.641| (C)v % nA=2.590




RBRFYUEEH S IISHRAOEH

PREFE S = 121.74m thig v
BEL | ARy Tk mi#E | BERE | UxXAXH B &t n XA 1=0.034U
2% | DEER#a A(M) |UW/mK)| (W/K) | RAZEn (m) L)
(i} v=045 |&BFR 7.87 0.491 3.862 0.017 0.131
EH-8Z 4.70 0.491 2.306 0.017 0.078
A 4.41 0.491 2.164 0.017 0.074
ya—y 2.21 0.491 1.084 0.017 0.037
EE 6.91 0.491 3.391 0.017 0.115
iRz 2.87 0.667 1.915 0.023 0.065
BINE 0.96 4.650 4.464 0.790 0.758
EE-&mE 1.92 4650 8.928 0.790 1.517
HENRE 1.92 4,650 8.928 0.502 0.964
H=1.0 (4) I UAH= 37043 I nA= 3.739| (D)v % nA=1.683
XH @=100 [#F 4.14 0.228 0.943 0.008 0.032
Hya—4 1.66 0.228 0.378 0.008 0.013
EE1 9.94 0.228 2.264 0.008 0.077
H=E2 11.59 0.228 2.640 0.008 0.090
FEE 16.56 0.228 3.772 0.008 0.128
sa0—Evk 3.73 0.228 0.850 0.008 0.029
5 2.90 0.228 0.661 0.008 0.022
& EX 3.31 0.237 0.786 0.008 0.027
{EFr 1.66 0.228 0.378 0.008 0.013
REE 1.66 0.228 0.378 0.008 0.013
R—IL 373 0.237 0.885 0.008 0.030
H=1.0 (5) % UAH= 13936 I nA= 0474 (B)a ¥ nA=0474
— AR B 6.21 0.407 1.769 0.000 0.000
=23l 1.66 0.407 0.473 0.000 0.000
EE-BE 19.87 0.407 5.659 0.000 0.000
FI=o6hh 9.94 0.343 2.387 0.000 0.000
F=E6mh 0.83 0.407 0.236 0.000 0.000
A - KA 2.48 0.407 0.706 0.000 0.000
ER T 3.31 0.407 0.943 0.000 0.000
& B 1.66 0.407 0.473 0.000 0.000
R4 1.66 0.407 0.473 0.000 0.000
HREE 3.31 0.407 0.943 0.000 0.000
fEFRr 1.66 0.407 0.473 0.000 0.000
=L 2.48 0.407 0.706 0.000 0.000
H=0.7 (6) X UAH= 15240 I nA= 0.000 (F) % 1 A=0.000
TR TR AR |#ERE|ULXLxH| @EE |SEHKE= UF XA
L(m) |ULW/mK)| (W/K) A(m)  |UF(W/miK) (W/K)
HSBIFEE H=1.0 5.46 0.995 5.433 0.00 0.075 0.000
KRERIEE H=0.7 9.10 0.995 6.338
(7) L ULLH= 11.771 (8) L UFA= 0.000
MEE% BMEEM n=05E/M | S B = 207.18(m) (9) 0.35 xn X B = 52.006
HBEBRx D = (1)+(2)--- = 323.69 BB STnE G = (A)+(B)--- = 7517
BB RZRE Q =D/S = 2.66(W/mK) B STER{S R 5K i = G/S =0.062(m/m)




